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Read the following passages and respond to the questions that follow each passage. Your responses should be based on
the passages.
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ATl AfTET 3 ht A Hrea TE qiaer s wET Fata | fhar 7% foam mereTe we orl. e R et
TET RIS ol ISl AT Theles! FTeATeR ekl 371 foweme™ wwad =l HATa1 weee dies Afor ger J5a 1o T0Rs
T, TG AVITET HUT FEUS YA o ! WG] STd STETE. I hiesTdedt Biehre! feR dawem 3 fewmft s
YT B i 5 @ el wd vehhe i firesa. 59 o axgfafo snftn cnesytae o snfn gae fadh o, fa2
31 e e 3mae Afifae geodd fadfl tehs dTsi Sdra. JEEE ArgeadrE snfen Smft SREEEtE 380 dehgs
FHHYTH 3.

Read the following passage and answer the questions from 1 to 5 :

Following the microlith groupings along the hill, one conclusion is unavoidable. These tools represent the pre-metal and pre-
pottery stage when the valley bottom was not cleared of jungle. With herds of animals, considerable food - gathering, sporadic
cultivation to eke out, and some hunting, they may be called Mesolithic cultures.

Such a population had to shift constantly from place to place. Permanent settlement could not come before the advent of
cheap metal like iron. It is difficult to imagine the use of iron anywhere in the Deccan, earlier to the Mauryan conquest. The
deposits of copper in this region are uncommon. Even the Arthashastra does not speak of iron in this area. The natural route of
the savages before the swampy or forested valleys were opened for cultivation, must have been along the hillocks.

The groups that moved along these tracks could not have been numerous. There was no question of their possessing land,
for land - ownership is not a primitive concept. Fixed plots were meaningless till the plough had conquered the soil. For this,
the fertile bottom lands had to be cleared of forest, which was not possible in our monsoon country without iron tools in plenty.
Land to the savage is territory, not property. In my opinion the still revered Maharashtrian custom of gamva - sai' dates back
to the presettlement days. This used to be the propitiation (at such date as the Bhagat might set) of all local deities, spirits and
goblins. The characteristic feature was that villages used to get deserted as every human being had to leave the village for seven
or nine days. After living in the fields or under trees for the period, and performing the required worship and blood sacrifices,
the inhabitants would return with the hope of better crops, eradication of diseases and general well-being. The ceremonial return
must be being conceived as resettlement. The fixed cult - spots for pre - agricultural people would necessarily be where their
regular paths crossed, places where they met for - barter where the communities performed ceremonies or where they celebrated
their periodic fertility cults together. Thus, the crossways were logically the sites for the mother - goddess cults.
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(§) S 37eM Yo Hid HROT T d =T BId ST AT § TS HE 3fed Bl
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(1) < SR T (F) & () = HRoHEE 378,

(2) <rE SO W (F) & (37) = HRomHwEE AT

(3) IR A ATEL

(4) (31) S g (3) b

Consider the following two statements :

(a) During Gamva Sai the people worshipped good and evil spirits.

(b)  The people worshipped them because they were afraid of them and wanted to please them.
Answer options :

(1)  Both the statements are correct and the second is the correct explanation for the first.

(2) Both the statements are correct but the second is not entirely the explanation for the first.
(3)  Neither of the statements is correct.

(4)  The first is correct, the second is not.

2. Sl 9t g Tegdl, dudd Aot Yot % feua Tega ?

(1) Tees (2) AR IH
(3) ftfarea sfme (4) TSYH TwEl qF A ATEL
When the agriculture was still to be practised what of the following was uncommon?
(1) gamva sai (2) love for the jungle
(3) boasting of earmarked plots close by (4) none of the above options is correct
3. “TEdE TA 99 YEeuehl ShITTe SHTAY gl ?
(31) ot et o (@) e frdgs s
(%) S T TR (3) wegfatma
I S
(1) (&), (&), (3) 2) @), @), @), ()
(3) @), &), () 4) @0, @), =)
What are the practices involved in the custom of Gamva Sai' ?
(a)  Propitiation of gods (b)  Village should be deserted
(c¢) Ritual worship and blood sacrifice (d) Barter trade
Answer options :
1 (@, (), (d) (2 (a),(b), (c), (d)
(3)  (b), (), (d) 4 (@), (), (c)
4. @Rt T FOR It GF 2UAIS! GEteucht Shiutd! Y TSI 3Xd ?
(31) AR SHH HE0 (¥) BIEE Gash UG B0
(%) SIS qIgT TTH ! (8) diHUh! Uehgl TRl
It S
(1) (=) (2) )
(3) (3 (4) ()
According to the author, what is not a pre - requisite for the beginning of settled agriculture ?
(a) Land should be tilled with a plough. (b)  Iron should be abundantly available.
(¢)  Forests need to be cut and cleared. (d)  None of the above.
Answer options :
1 (© 2) (b
3 @ @ (a3
5. WIgedqrdl STUT TEETER ST ST
(31) AU WeHI AodTe AT UehHehH fHedd. (&) Y e TesAT TSI HLd.
(%) SIS HO I Tegd. (8) TIMH Toess Y.
IR SW
(1) (&), @), () (2) &), @), (®)
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Sites for mother - goddess cults were at crossways because
(a) This is where the paths of the nomadic people crossed.

(b) This is where the nomadic people exchanged goods.

(c) They could not cut the forests.

(d) Valleys were Swampy.

Answer options :

1 (@), (b), () 2 (a), (). (d
(3 (a)(b) 4 (a),(b), (c), (d
T AT ST TeR STTNA 6 o 8 Syl 3T o

TSHIG &l TSITAT AU AT Fose! ATuismfiel aitfedt sTed. as-m=n 3191 I8 31U TSedres fohal g
TG TATHE F TSeATes THi0r Bdl. gohTar i JehI STHATd. TSR Sohles &1 TR TRIET 316d, Sarded
T USHST UTHE gl YhITaR JTUfeqa Iraamie U hHl Tal, ST 3781 YR Hidal TSR Feal. Feued
UTHE Tehal Sesd e 2 T8l ATV TR HHIE! TSdl. 3T G5ohlcs TG Y[k AT A -6 TSIHE higd e &I,
CIATAT 37T AT TSI e q@ie 31 3.

STHRTE T GsehTed IBHTTTERI® a1, BT, 31e STV SIS AreATdies qTof STTEvaTRil T YiodTdes! Sreevars qafad
3TEAT. TSGATS, GV, TEqagult, fd-=w0g 1 ST Y-I0 IT61 IS 7 §5hl6 dedd. e Hd HeMSiHs
TSI 3THS 70 Bld 9 46 gohlasdgRl [EdiHe Jiat 2id. e gohies fohdl Yoo gshles deal fmiur
it fmior g o amean foregdl Bid. 31T geehresr=l dfisral ifueh dTecdTd Ushal 1S SHIUR Te! 37f aiefeerdt fmior
BId. A1 T ATeadiRiun 3T TEurdam.

Tt 1 el bt ohTes TAAIY] TS JTHG T SATHIRITH Y GRehics @ SIRTTA A ATV RIAH@oh GhTeT=l @ HRUT
3THA. BEcsed TAHMITHE GShlTe TR G- GEhlaME BId, 3T M, SHaT=d e GEeleald @ FITaLol
HAfcera #g T .

Read the following passage and answer the questions from 6 to 8 :

Drought is basically a distress situation caused by the failure of rainfall. This failure may be due to insufficient rains or due
to a wide gap between two or more spells of rain. Droughts are of three types. A meteorological drought is a situation when the
actual rainfall is significantly less than the climatologically expected rainfall over a wide area. Here the rains do not arrive in time
and are inadequate. Such droughts are mainly concentrated in the areas falling between arid and semi - arid zones of the country
and are characterised by high variability of rainfall.

Hydrological droughts are associated with the drying up of surface water such as rivers, streams, lakes and reservoirs and fall
in ground water levels. Such droughts are augmented by deforestation, mining, road construction, overgrazing and withdrawal of
excessive ground water. All these factors contribute to hydrological instability leading to droughts. Agricultural droughts or soil
droughts occur when soils lose their effective moisture conserving capacity. This prevents healthy crop growth. Such droughts
may occur even when meteorological droughts do not occur and vice versa. Under extreme conditions of such a drought no plant
exists and such a condition is called desertification.

Although all these three forms of drought occur independent of each other the occurrence of meteorological drought is the
basic reason for hydrological and agricultural droughts. Prolonged meteorological drought results into hydrological drought, and
may, thereafter, lead to agricultural drought. This transition is a very slow process.

6. WSS A faa™ g,
() HISAT AT THH HHI - TSV IMeIaT ST T8,
(F) O Gl JadIe] 9 TG SIS =Te Bl

q?ﬁ?ﬁ?ﬁﬁ:
(1) < I (2) TEl SO
(3) (31) I (F) TR (4) (31) TR (F) TH

Consider the following two statements :
(a) Indry areas chances of receiving high or low rainfall are not high.
(b)  Hydrological droughts begin with illicit felling of trees and overgrazing only.
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Answer options :

(1) Both are incorrect (2) Both are correct

(3) (a)isincorrect (b) is correct (4) (a)is correct (b) is not
7.  Weie faum arn g 9w a gt e

(31) BATFRITE &h1e & Tcieh GohTaald Tl 3T,

(q) TS Gohlcs "gHIa AT Seshie TR .

Wﬁﬁi:
(1) (31) T (9) & & s 3. (2) (31) T (9) & T IH 3.
(3) (37) SR 378 9 (§) I 3R, (4) (3) S 318 9 (37) b IR,

Read the following statements and choose the appropriate option.
(a)  Climatological drought is the cause for every drought.

(b)  Hydrological drought is always an outcome of the human factors.
Answer options :

(1)  (a) and (b) are correct (2) (a) and (b) both are wrong

(3) (a)is correct, (b) is wrong (4)  (b) is correct, (a) is wrong
8. e fafdre smmen faffi=h v aeram HIvTA THRE JRhle TSUATE IRl TR ?

(1) S (2) S

(3) TEWERTE (4) USIRSH

If the wells grow in number in a specific area what kind of drought is likely to occur ?

(1)  Hydrological (2) Agricultural

(3) Climatological (4) Rain based

TR AN AT e TG 9 d 12 Toareh 3 & :

Ul AHEST @A SHSed] YW U=t 3 IRIgHT=a1 TSd] STHoed Seh fafagda, St SHrges arameur w=ume!
ST FATd, W= HRITHAT GURUAT TSt IRAN 3R, =EUa ST IS SIS 379 9 96 qfadrd o1 St
YR FeEuar=l Hidl dHf Iuaed HTE. S SlHae St hl IEio 40 TN gue Bvar] U e, TSR e
fuTETdt St qeEft 31y, ST rETdt TR 31 ot Sedt snfer yrft = gedt yehren fafderd=n R s,

ISR I Eofteal Seadiel fag sed ST =l 38 Hvar= M g duftheh Aqh=a- gegsaT ATeaTeal el e
o>, AL TSI heft heft SERAUT AT FTFSITE=AT 9= ATASTIR FAM Bl Ad ST, BITEE hase! Ueh Sl Tehrdl
STt 3cdt ot et ufiferdieft Josem SvR sifaveE SHAE 0 wITa Thaese 3.

ST TP BR AT Idehll AT FTEIAIT ITHIEE des YAl T ¢ Iehard. AT 3= Y= hriem
Tueprt frae € smEh sreEREThd ST WIS U= ST IR @TE AT fomr sreEErdl fashdrd creamThd
HS! JATd. 3= HEAR AT AT ICATEATAT FeedTd Adh=AH! odd T e, SATE YHomT 8o AlsieTe I9]
T B THTE SHEE Bl TR,

iU e THTEiie a1 UTT=AT Uerl aN=al Jodehi] Arefiial 3Wihdies TeETe 3cdied el Cofl Hea
3nfor o1 foehTclies SR Serd=an fevrdiaTaa SIrTesh Sal. Sehiel Aefies Tegreat Warg fehan @ran Aefies W= Yot we
ST THEHT ST Tehrel fuehrean el gqrer farfasioedd venosean feadma. o ThameEuuHes! U Yehre fafae
I, S e 3A AR ST BId ARl IEIde To U= @IS ST 3 JehR=dl aaeudi=n gt
HASS! XA, FIEET Igeh IATE! FTed foreqd Iuwed Hifgd! T SFTvrdies gamae et ameR smarfa qegemT o
AU AR HL01 SATIOT Feoramoy fersporr=an showamaTeha o fahroft ft dTcehies amed ~var=ht soawer 1, A1 Haiges defie smie
Tfqad =R fodiam Siewen Sed @9 SHial 8. M S’ arEqard 9fd 27 91 dish hieuaren Teid Anfie o gehrean
THIq I AT TS A ATATHL I T e 1T 3T

Read the following passage and answer the questions from 9 to 12 :

The genetic diversity within the handful of crop and livestock species that feed humanity so-called germplasm resources-
holds much of the potential for improving agricultural performance. At the same time, great opportunities lie in broadening the
base of the species that provide our food and fiber. An agriculture, sufficient to feed the world's population that is expected to



The Unique Academy

double in the next 40 years, will need to use both plant and animal diversities.

Increasing of harvests rests on a foundation of genetic diversity by bringing about improvement in the crop upto a desired
level. Throughout the history, the selection and breeding of superior plants was done by individual farmers working on limited
stocks in their fields, augmented by occasional spontaneous crosses with wild relatives nearby. Cultivated crops, though single
species, contained an incredible array of genetic types adapted to local circumstances.

In industrial countries, few farmers can spare the time or land for plant breeding. The selection of high performance crops
today is done by government scientists and by private companies who sell specially bred seed to farmers for planting. Farmers
have traded their independence for higher performance and larger harvests; as a result, a few successful varieties are being
planted on millions of acres.

Fifteen years after a devastating epidemic of Southern Corn Leaf Blight cut the U.S. corn harvest by 15 per cent and alerted
the nation to the genetic vulnerability of its crops, a visitor to the wheat fields of the Dakotas or the corn fields of lowa can still see
row upon row of uniform plants stretching to the horizon. Yet under this uniformity lie forms of diversity not available to most of
the world's farmers. The many varieties under study by the private plant breeding industry, the widely available information on
pest outbreaks and weather conditions worldwide that constitute an "early warning system," and a seed industry that can transport
varieties quickly to areas that need them all protect American farmers from fatal vulnerability. These safeguards have come at a
substantial price : U.S. farmers now spend over $ 4 billion each year on seeds, and while the cost per ton of grain harvested has
declined in real terms over the past three decades, the cost per harvested acre has doubled.

9. Udie a faemren foem .
(31) TS Higen ymmNa fafae Somdt o §=mer SrTaE shedl S 37Ted.
(7) b ferforerges & @rer 3 o7
I S
(@) (37) IS 3R T (F), (1) =t HROHHET <.
(b) (31) FH 3R TEIE (§) FMEd T IgHId ATaL.
(c) (31) SR 3T R (¥), (31) = FHROHwT < T
(d) dUl=sgreed a1 faumTsTad S Grrar 3 ATEr.
Consider the following two statements :
(a) Today a large number of widely diff. species are getting planted over extensive areas.
(b) Genetic diversity has led us to this situation.
Answer options :
(1)  (a)is correct and (b) is the correct explanation of (a).
(2)  (a) incorrect therefore the question does not arise about (b).
(3) (a)is correct but (b) is not the correct explanation thereof.
(4) Nothing can be made out from the passage about the statements.

10. Y&i® q faemren foem &,
() UATHAEE! T WS HIAAT FeA T 3 A6 &= 916 galid Hawar= Alga 372,
(@) Al TS a7 FEio HoaEdd ST IR SIS hedl WA ST TSATdiAT JgH e Faftaor feq sot
IR,
W’i’éﬁﬁi:

(a) @ S (b) T =
(¢) (%) SR, () I d) (&) SR, () T

Consider the following two statements :
(a)  Higher profits is the main consideration for the farmers and the private companies all alike.
(b)  The wild crops have regularly helped their cultivated counter parts throughout the history in producing superior

varieties.
Answer options :
(1)  Both are correct (2)  Neither is correct
(3) (a)is correct (b) is not (4) (b) is correct (a) is not

11.  3mgur S fafaern sfogm wifge @ Sasw—=ren :
() =iTedT FEAKYS S el 3R,
(@) 3feres =R Afivd IS IR,
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(%) WG /AR SHES=A STeaviiqd I e 3Ted.
(3) g wen:feerdt @ gEu faoia wamee g <a ATl
(3) fouvmfafea gt @1 q8 SHvaE ST ST,

(3) T @ firesdl gig careRtar st fhed dise @,

=it IO TS SRR A
(1) (@), @, (@), ) 2) (@), @), @), @), @
(3) (@), @), (), @), @ ) @), @, @), @), @, @

If we see the history of the genetic diversity the farmers.

(a)  have benefitted from higher performance.

(b)  have become rich because of the larger production.

(c) have overcome the problems of planting of uniform plants.

(d)  but the circumstances do not allow them to decide for themselves.

(¢) the market driven tendencies force them to follow.

(f)  and the benefits come to them at a great cost.

Which of the above statements are correct ?

(1) (a), (b), (d) and (e) 2) (@), (b), (c), (d), (e)

(3)  (a), (b), (d), (¢) and (1) 4 (a), (b), (c), (d), (e), (D)
12. 3irenfires 9T et aiTean ISl Ugre vk Jidehdl STSTehIe ohid ATErd ShiRoT :

(31) TTEHT ATE AT d T&d: Hild 3R,

(F) WM =T § M AT SIITETS! Hid 3T,

(%) ARl GEAT HET S HTd.

(3) AHAM US| THHA GH= HHHS! TR 3T

T W ¢
(1) (), @) (2) =), (@)
(3) (), (¥, (F) 4) &), @), &), (3)

In industrial countries the farmers who earlier did plant breeding are no more resorting to it because :
(a) Govt. scientists want to take it upon themselves.

(b) Private companies undertake plant breeding for their interests

(¢) The farmers are busy otherwise.

(d) The farmers want to put their land to other use.

Answer options :

(1) (a)and (b) (2)  (c)and(d)
(3)  (a), (b) and (c) 4) (), (b), (c) and (d)
&S IANT AT TR NG 13 o 14 T9Areit ST e :

3T BIeh FEUIATd hl 21 I IIdh FTHE Ideh 3R, Ty Ik TS AT foraR M Bleh TEUATd 1 8 ITdeh T
IS, IFH T IS T IS BIhaedyed HTE! MR 3R, RAT 55% BIhaE & T=dfie e 3= 313,
I 31 37T <l WA WSS SRR WIS 6000 & T 3T 3T

U7 A F HAEERT AT AT B IR, A giguan MR wid. e greel Je e, Sem favawa g
THG TYST ICATE! el HLdT AaTd. q0T HAIHERT qH=A it 9 goet Sfiad Srvar=ht g faifa sid. widara W 5
T A fiehT A0 TS BETS 318, TSI T SIS Teh{aTedT SIqehld Jd 3718 ST JTq Il SUATHT AT T8, q07
TRATT Rt VAT Hered, Teie, Tiesleal Idehld TR @=d 3118,

RIS WA AT STTeh W= Heheu1 Tg9d Herashn’ (Y01 ST & Hod 3118, ) AT TINTHE SEATad hasl. ST
TEUIAT shl TRl Ueh 3TMEId 9T Siadl aHl SHI8R shidl shi¥ ? Segl S SIU! Sxhl Ushal IdTd deal oI fehd! F<h! BldTd o
SATYUT SATOTAT. T WebH T G shidTd o 3Teh{l BIdTd. hivfiadl forie™ Feure Bid shl Seal aH WRAT I<h! Tehal AdTd deal
T I BIAT. RV T ThHHDHHT B¢ ¢ o3¢ SUadrd. w1 66 I8q Wehd ATard T & IR AR 312,

HTST He3 JaU& 3TET T8 hl YR TS TR U= S 19, TR fHeha! STehR qUaT=h RS 3778, STTIeATRT 71
T TAMHERT AT Qe el TRTehe TEHIeT el hal difesl. HTTeaTe! % 81 7, Al gigam a1, sifuss fFleoem
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T, 3w foveives o, Frme 7 S stfies e fovawer s, mﬁmﬁaﬁa@%ﬂwwmmm
FUSH IR Teh [STHTeHT IdehldIe WA STTShNIAT STTIM0] IR ShLuTT=aT, TehTcHeh, TITeTH, WirsTens ITgurT=aT, &1
IR ST FAYHETE hel Teare=aT § ifee wifes.

Read the following passage and answer the questions from 13 to 14 :

Many people say that 21st century is a century of knowledge, but the people who think more deeply about it say, it is going to
be a century of mind. If this is the case then India has demographic advantage. India has 55% of its population less than 25 years
old. This means that there are 6000 lakh odd minds to shape destiny of India.

But there is a fundamental difference between the mind and the mindset. Mind represents intellect, mind allows you to make
smart observations, smart analysis, smart synthesis etc. but it is the mindset which determines your attitude and your approach to
life. In India, there is this huge battle between the Indian mind and Indian mindset. The Indian mind is taking us into 2 1st century
and there is no doubt about it, but it is the Indian mindset which is drawing us back into 14th, 15th, 16th century.

Centuries ago Indian mind introduced the concept of global village with a slogan, "Vasudhaiv Kutumbakam" (Entire world
is a family). We say that we are one family but are we practising what we say ? We know that when two Japanese come together,
how many Japanese they make ? They form a great team and become eleven. Someone in a lighter vein has said that when two
Indians come together, they become zero as they neutralize each other. They do not make a team and this is the Indian mindset.

My basic premise is not that shaping of Indian minds is not required and only changing of the Indian mindset should be
attempted. We should start taking up both. We should not only be contented with clever minds, more intelligent minds, more
observant minds, more analytical minds, better minds synthesizing in a more clever way, but also mindsets that are positive,
constructive, forward looking, mutually reinforcing, - mind sets that will make it possible for us to shape 21st century India.

13.  3NTeAl SWATETEd Wi vl faem = o ?

(a) TS e FIRIET 313, (b) IS Td B Hld AT 3TE.
(c) i1 TEUVATEN Bl hies FHTE AT, (d) oo v faum I T,
Which of the statements given below about todays world is correct?

(1) Itis aclever peoples world. (2) Many feel it is the 'mind'".

(3) Some say it is the 'knowledge (4)  None of the above.

14. Y& U g™ o AT
(a) YRGS AR 55% Wik TAfHerT Taf= 31a.
(b) YNATIS FHAR 45% BIhT= T4 FLEISS! e
(c) WRATA IR B TgHEA ATaM.
(d) YRATH® AR 55% Bieh FIR foRaswor sHtam.
Which of the following statements is not incorrect ?
(1)  About 55% of the Indians have modern mindset.
(2)  About 45% of the Indians have old traditional mind.
(3)  The elderly people are not in majority in India.
(4)  About 55% of the Indians make intelligent analysis.

TR AN ST CTeR SR 15 d 19 Tt SW e ¢

TGS TR AT IR TIE Fid hl, HIATT FITIHH ShREHE SHdS] o T 6o 3118, VRS a1 S ImeHT=
frere a3 X IMEATAT SRR, T SRS ST Suame TR Yok ATHNHTST 318, I TeRTdayT=
ST IMHHT HRAN Teurt groar=h gl 3ussy g reue Wil Sepmdiued agurft’ Semdhs darears
e B, ATEATE GR0T @ 9 SHGeTav! AaTHed SHd=] Hishd TR ATaE T SIhITET SN 39T 3dl. 59
AT M HhRARHEN Tishd TENTT BIUATSdehl H&H THd, I 9! TecsarTi=al fequsar™ 1810 BIvgT= JeRdT dled.
AT TETToTeh I fresvTe wreT Srerest faufur gruar=h et 3.

STV ATEIATR TARTHG SHo@] ORI TaTs FHHivr svaren g8H Yoo =70, 3ed. Wiiedi=a STuhR stfufrmmen
TR e A AT IRAe] aHe Jel . a1 SUHEmme AEaR A 69 Tesd. R TsaEe=al
IR 19 (1) () Tefies 9o 9 TR RaTa=maed OTfada ATUHR FEARd 372, 7 WRaTdis fafae =mmea aifas

I IS AT T &0 9 ST g8 qEG Hiedial SR haslel il S9q Ihdl. SiaemT=

an




The Unique Academy

YTEATferehed | AMTNGRHAT IR, 0, THd1 9 §Ycd’ U9 2Ise 61 FHuft ek ot 318, e sredifasme
R AT Vg oERYEH YW T U TS AR, A W6, THEA 9 99 Id. <E 8 Iod 919 38,
TSI T, THEAT 9 SEcd YT HEdl VR T8, =Tl 9T aHTiies foyades aeers g aid. & amiiie
HTSTNS FYehl T2 I HIEdTeR dTem 33 el o Gutiiel 319 YNuTed IEd 3o 3Hdl. Il W sfegrad ae
TRUA =T Thesauarea ufshad wifedt SR hRIEeT STl Taw 318, e Hitadi=n TR g1 SRTsrdie T
AT 9 AHATIHR Te3ded! AT ST fawst a1 318,

TITERUTETE] esdes 9 Hifedian JRR A=Tdl Sader gay 3. Giagmre sese 21 TR s AN Sifad
q TATGATET AYHR AR, GHAT QA SHHferd o TATTATER TRUTH HOT=AT e STl S0 Evar= Sedsh el
PR 3R, 1992 #eA wefioned To & S A e agE uiued A= YHEER HvATd ST, 79 GHiaiorErd)
TSI o3 T AT, ATl Alfadt feeprran fefiti R hal 31T,

Read the following passage and answer the questions from 15 to 19 :

Preamble to constitution of India starts with "We the people.." It does not refer to people of any particular caste or religion,
which signifies that the constitution of India places its people at the highest position in democracy. When people of India elect
our government, we also have a complete right to get aware of all its aspects and governance. Such awareness gives a chance
to actually participate in the process of governance which in turn advances the democracy from being merely representative to
become participative. Success of democracy largely depends on participation of its population in making and implementation
of government policy. Where common people are not able to actively participate in the process of governance, possibility of
protection of rights of select empowered class increases manyfold. This holds the potential of eventually becoming a major
obstacle in the path of Social Justice.

The efforts of creation of knowledge based societies of 'Informed citizenry' are ongoing in various parts of the world. India
too, has joined the bandwagon by accepting the Right to Information. 'Informed citizenry' term appears in the RTI Act. Various
courts in India have reported that Right to Information is inherent to Freedom of Speech and Expression provided in article
19(1)(a) of Constitution of India. Additionally United Nations Organizations stated in its Universal Declaration that Right to
Information is fundamental to human rights.

In the light of this, Right to Information can play a pivotal role in the process of protection and establishment of social justice.
Preamble to constitution of India has resolved for "Justice, Freedom, Equality and Fraternity" to all its citizens. Deliberately
the word 'justice' is placed first in the order. Justice is fundamental, in absence of it, freedom, equality and fraternity cannot
be achieved. Absence of justice leads to social inequality. This inequality stems not only out of unequal distribution of natural
resources but also out of unequal distribution of information. Ruling class controls information to maintain its hegemony over
power and resources. Indian history has witnessed this time and again. Social inequality can be won over by making the socially
oppressed classes aware of 'power of Information' and therefore Right to Information is extremely crucial in the process of
achieving justice. It is for this reason that Right to Information has become a matter of utmost interest for numerous civil society
organizations and human rights movements.

Right to Information and Environmental movement are also closely connected. Article 21 of the constitution provides Right
to Life and Liberty. In another a words, citizen have a right to know everything that has impact on life and liberty. The same was
also reiterated in the earth summit of Rio de Janerio, Brazil held in 1992. This also being the core principle of environmental
movement, they have keenly promoted Right to Information.

15. Wifdren iR Wioioueht hivTe oY gt sifies dafem o

(31) Sfifeqd 9 wd=m=n 78 (@) sunfoegE g%
() WUl o PSRl TETaAT €% (3) eafurer g

WS SUH THITAT g=iE S 3 ?

(1) (31), (%) (2) @0, @), &)

(3) (310, (3), (H) (4) (30, @), (*), (3)

Right to Information is more related to which of the following fundamental rights :
(a) Rightto Life and Liberty

(b)  Right against exploitation

(¢)  Right to freedom of speech and expression

(d) Right to Education

@
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Which of the option given below is correct ?

1 @) 2 @) ()
3 @@ @ (@ ®) ()
& g faamren foem .

(37) e tfeeprrEn sRE JafheRiican TTeqUaT id 3TTEd.

(§) =TT FEAT, T T <IN AT T S ST Hifeedt 37T o1 797 Wit tfesprren fuest qeefta 31me.
I S

(1) et sk (2) hIUIdE! ST ATE

(3)  (31) R () H (4) () s (31) ch

Consider the following two statements :

(a)  Right to information is being pursued by individuals all over.

(b)  Various societies, movements and countries well informed or otherwise are following right to information.
Answer options :

(1)  Both are correct (2)  Neither is correct
(3) (a)is correct (b) is not incorrect (4) (b) is correct (a) is not incorrect
et faemran e &4

3. it 9 0 AR SR g 3R
q. g1 Ged Hatdl HeHTT THS dY QTS S g el

IR SW
(1) (3) SR T (37) = S TTERT (2) (9) SR, T (37) AT SIS TSR TE.
(3) <l == (4) (3) = (3) SR

Consider the following statements :

(a) Non dissemination of the information is a root cause of social inequality.

(b)  When the participation in the governance is not all round social unjustice could prevail.

Answer options :

(1)  (b) is correct and (a) is the correct explanation of (b) .

(2)  (b) is correct but (a) is not the correct explanation of (b)

(3) Both (a) and (b) are incorrect

(4) (b) is incorrect (a) is correct

et faemran e &4

() TR ATt Afusr 3mawes g Jom @ fo SHa afieny mes 3.

(§) IRATd® ST ARSI TRER Teee 318 hi AT =AmdTd! wifgdi=n Tar e 378,

IR SW

(1) S s (2) IV SRS AT

(3) (31) ST (9) Ih (4) (%) S () I

Consider the following statements :

(a)  "Citizenry has right to know" was for the first time said in the summit at Rio-de Janerio.

(b) Many courts in India have reiterated that dissemination of information is an absolute must for attaining social
justice. Now state whether.

Answer options :

(1) Both are correct (2)  Neither is correct

(3) (a)is correct (b) is not (4) (b) is correct (a) is not

WIHGUH! RV ARTIYSS TR BIhvEre TgHRT BIehIEmed SUTaRl gied gid ?

() TEe 9 fqumHgsme g3 fa=mo.

(F) IRMEATUET dshR SRES 0T,

(%) WIfedt TR ATRTGR I o JRIE TR Sfor,

(8) IIMHh SRS SO =0,

T W

(1) (31) afir () (2) (@) sfir ()
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(3) () smfor () (4) (=) smfr (2)

Which of the following indicates the transformation of representative democracy into participatory democracy ?
(a) By asking questions in parliament and state legislature

(b) By launching complaint against administration

(¢)  Using RTI act to make government and administration transparent.

(d)  Getting knowledge of functioning of governance

Answer options :

(1) (a)and(c) (2) (b)and(c)
() (c)and(d) (4)  (b)and (d)

Uit 3N AT TTER SERa 20 ° 22 T S ©

1991 =T HEATITH WRAT ATk frehare an 918 &ies. JTel @ vl FEurs| Sferid shofia aredl sieil, STt

ST AL qTe3ae, TSI Ud a1 BIvaT= st srerrar 3rfvr faefr sre=mft, smardt 3¢ i anfaud srdeacesh
USHE B SIEIECshEl AT GUNON TS SU0ATE SN gid. a1 ek Hehelqd STRT AvAra H1 shiguarardl i srfemsi
forermar wfspen fafeea swamdt 3fwifies, SR iU e & $El e 9IS 9¢o Ul ATEvdh Bld.
TYRIRUTHIE! e ITBU TRoiel Bld SARI STHheaTdIe foei ST =7 WITdis qe HHI 1% Ieha. TR U
HETe (e 2 BId 1 ST AEET = q1ed ST TR ol wfhan € S sRidAaR SaTEl.
TR & Fald oTH JGTa BT, St €81 d S cuMEie T BT, hiel Teared] o e 9@ geh! a1
BT BT ST HUITHRE! B, 1997 d 2002 T WTEETE T TSHT BIdl. TaedT ST CETeT SATfeh ST hie3Td
TS TALR Sedie, T Taes IcAGATd® hearl 23.1% %4 28.2% o TS Bidl. AT HIe3[d T TAed [aah
TS Bl T fofT e ATS FHll S BIT. ATATHIY ThIT Ted& [Aav[eh, TR T HIST A1 Hehi= HMART ARG
&l

TSI 3T TEUIT ASH shi WA LT T IR Iuid I FEUS 8% d 9% GRA dTed 378, I 3FHeh Teehidl
FHHAR FHIUHHTS I 1A 96 =g 3o 3TTed.

Read the following passage and answer the questions from 20 to 22 :

In India, economic reforms were initiated in mid 1991 due to problems such as increasing external debt, unmanageable
balance of payments situation, high possibility of acceleration in the rate of inflation and the fiscal problems. External factors
like Gulf war and collapse of soviet economy also contributed to the crisis. With a view to tide over the economic crisis and
ensuring sustainability of growth process, it was considered necessary to introduce certain major policy reforms, on industrial
trade and public sector fronts. Measures for stabilization aiming at reduction in fiscal and current account deficit in budget were
also necessary. The economic reforms basically aimed at allocation of resources and decision - making to be guided by the
market mechanism.

In the post reforms period, there has been a lot of optimism regarding long-term economic growth. In the last two decades,
India was among ten to twelve highest growing countries in the world. Some macroeconomic variables performed well during
this period. Rate of inflation declined during 1997-2002. Gross domestic savings as a % of GDP increased from 23.1% to 28.2%
during 9th and the 10th plan. Gross domestic investment increased and fiscal deficit declined marginally during this period. FDI
inflow, FOREX reserves showed promising trends.

In conclusion, the economy seems to be on a high growth path of 8% to 9% in the last 4 years. The performance of the other
variables also seems to be relatively satisfactory.

20. WRATT ST GURUN TSI AUV TSGR HAGE TGS Teehidehl STeIeeh hiuTdl ?

(1) <@ (2) fida e
(3) sfrenfies ate <Ud we (4) =l el AT
Which of the following is an external factor leading to economic reforms in India ?
(1) Inflation (2)  Fall in exports
(3) Slowdown of industrial growth rate (4) None of the above
21. WISIGUh! RV T AUV Tehre Teqa URedaTa quH hoseh AT ?
(1) I gEet (2) wEETE
(3) AT dqredeg (4) 92 TEhI AUk
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Which of the following is a macro economic variable, not described in this paragraph ?

(1) Money supply (2) Inflation

(3) Balance of Payments (4) Foreign Direct Investment
22. WNATS 1991 T4 3w GURUTE! datd Hidt e FgUNL......

(1) aTeraT g qiEn e (2) IMYFTHIRTOTER W ATE

(3)  smTa-FrRid= adEn g FH 3T (4) =l wwal A&

Major limitation of economic reforms of 1991 has been :

(1) Rate of growth is not adequately high (2)  No stress on modernisation

(3)  Slow growth rate of exports and imports (4) None of the above

UEIel AT ST TeR STERA 23 & 27 T9ATe ST o @

B T YT BT ST, 3TN ST SHATeH $9 T8UIaTd. & S8 GIN SIvaTHie! Geiae aui=n hied &l SHrdl, Te0a
STTeTeH 399 T, G907 IR 3T A STEwATd Jeafi=al Uierd d19ed. T hicddl, WS do ST A8fie Jry A=
THTES 1. HeAT SHaTeH SETd SRS ehTe= S37 HI9edrd. ATRIER Saia! 39+ U st SHFgNId aTaidl. 3¢T. BIES,
JIUTTAT =T, BIehe! hicdEl ScaTal.
WSS 3§99 FeV[ BIRSHIET IHAT FTdl. BrehehiesT=al JHes e T8 Bld T JEul €iedd 31s 3718,
& Feeh w9 31, g dier sl Hiel sqe @ie @S 9o Fved. e Ui, fede, S s s 9 ®
e fresadn Aam.

it 9 3 IR AR RT3 39 3R, O Bat U2 Hd I AT hivdrel T uerd firge Ted A
Toram g ST TSER @ TSI H g W9 3TEd. G TEUN g i aeAl SaeTar fRE et Ad. e,
33, OH, YA S JEfife IR YR 3.

Sfiaren 37T 3 U |i © HAlfed 3MTed. TeUE hicHl, de AT TRUNGh fohal TRl SHeftard Teurard, HRol
q TN §FEdr Id TN,

TS, TS SHoll, SRR, TRNSHS 318 Irord AR B T 3TMRd, algl 3 Hl Hehe IS
TS 3R, I G HRUT TEUl dTed! BIehEedl ST died Ieee, T SHRT et Solt Fdd fHi0 Hidr J07 hair
AR, ATETST Tl Iehofia SoATErareT aTa SHudT= AT SNU0l, & hloslel TSl 3. 379 IRFERId 31907 HiEe=aT STl
B higd S TS T2,

Read the following passage and answer the questions from 23 to 27 :

A long time ago remnants of plants and animals got buried into the earth. Due to the effect of the tremendous pressure of the
layers of earth above and the heat inside they were converted into fuel. Such fuels are called fossil fuels. It takes lakhs of years
for such fuels to be formed. That is why the deposits of fossil fuel are limited. As a result, a need has now arisen to make prudent
use of these resources.

Fossil fuels are found in three forms solid, liquid and gaseous - in the bowels of the earth. These fuels include coal, mineral
oil and natural gas. All fossil fuels contain hydrocarbon compounds. Besides these, we daily use other fuels too, for example,
wood, charcoal, cowdung, pats, etc.

Firewood and brushwood are used as fuel in rural areas. It is a matter of concern that the use of wood for fuel is causing
destruction of forests and has endangered the environment. Mineral oil is found may thousand metres deep in the bowels of the
earth. Petrol, diesel, kerosene and fuel oil can be obtained from it.

Natural gas is a very convenient fuel to use. It lights up quickly and does not leave behind any solid substances. Besides,
it is easy to transport from its main sources by means of pipes. A big advantage is that the burning of natural gas can be easily
controlled. Methane, ethane, propane, butane etc. are the various types of natural gas.

The deposits of fossil and other fuels are limited. That is why, coal, oil etc. are said to be conventional or non-renewable
sources of energy - they cannot be produced anew.

Even though we are now using renewable sources of energy like wind energy, hydro-electric energy, biogas, biodiesel, etc.
we are still in the grip of an energy crisis. The main reason for this is the growing population and increasing industrialisation. It
is difficult to continuously produce the increasing amounts of energy they need. To find ways of using renewable sources is the
need of the hour. In view of this, we must concentrate on the use of solar energy.



The Unique Academy
23. IV SUAETA Tdid At fommoresr g et amg e

(1) BrgpEHEI (2) dBFTAY
(3) 379 Sl (4) Tfaega St
Which energy source has proved to be the most destructive ?
(1)  Fuel wood (2) Oil and gas
(3) Atomic energy (4) Hydro energy
24, T EERE covvrrnnnnnn. Eiri
(37) AT THeT (@) wgsaftd gaer
(%) 3T TmEm (3) vTERfi e
(3) Frrgmit onft (®) STfaeh THET
T I
(1) () (2) @)
(3) ® (4) (%)
Energy crisis is not a :
(a) Social problem. (b) manmade problem.
(¢) economic problem. (d)  environmental problem.
(e) gift of nature. ()  global problem.
Select the correct option :
1 (@ 2) (b
3) (© 4 (e
25. SRIUTAT URURh SATETd HIFe STORTETE! Tgs—goy 318 ?
(1) whresar (2) @@
(3) =it amy (4) wmEFH
Which conventional source of energy is most man-friendly ?
(1) Coal (2)  Mineral Oil
(3) Natural gas (4) Biogas

26. oAl Gehe HTRIRITEER dig 2ld TToe 3. HTUUT IR 1A Srehtaa® gat ?
(31) Jafifer IRET HRO A HHA I 4. (¥) oI sHfeAr U= Hidiehe BT aTeaTE &

() 3T GR FHorel WL I gal. (3) ST 9 A M HTEe Tiesid.
T W ¢

(1) (39) (2) @3 )

(3) (), @3 =) (4) I3E)

The problem of energy is becoming increasingly acute. What should we resort to ?
(a) Natural gas as it can be conveniently used.

(b)  We must pay more attention to renewable sources of energy.

(c)  We should lay stress on solar energy.

(d)  We should find new sources of energy.

Answer options :

1 (@ (2) (b)and(c)
(3) (a),(b)and (c) (4)  (b)and (d)
27. SATIUT TEA:H Il FeheTdd Tl TS IR ?
(31) 3T TR ST T UG (@) It Feftertofia Earean I
(%) SRRSO o S} e (3) e 9o 9 arpEt ARG wE
T W ¢
(@ ()3 @) (b) ()3 ()
© @33 (d ()3 ()

How should we extricate ourselves of the energy crisis ?
(a) by containing our teeming millions
(b) Dby finding ways of using more and more renewable sources of energy
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(¢) by slowing the pace of industrialisation

(d) by importing more of oil and gas

Answer options :

(1) (a)and (b) (2) (a)and(c)
(3)  (¢)and (d) (4)  (a)and (d)

TR AN ST TeR SR 28 A 32 W9t SW e ¢

ST & STIh HeheddT T8, I TSI e JEveh 0 S0 Hed el heATUehidl =T ITFT ol
J1Ad 3R, AHETeAT FRfRTes TSATETE STeTed TAgR Samed 9¢e gefde ST, el e, sHeudi=l s,
IEIi=AT STeTesdT ST forerfia ShivareTd! sTawaeh 1 Hehl Beed STV SITdl. ATETe! ATaRuATd AUT=a1 MY Tgdid
o Ueft 8= It Hada it S frEnfERt an MidiEn ey g @Y UgEEre SafafagaTtayesh @i hoed
SETAR ‘378 HIvdel a3 samed SAfaes ufshan, Sfa fohar o Icarer Segr fafdre Sgemardt amms Srdr et Sads

3T TRUIAT IS, TEvIerE sATHed WiTd Staemeren fafay 3wt Yot amw Stegt fafay 3earen fafiidia grar sten s
S e 3T TEUTAT.

ST A ovd foRmemeETd gues gl §9 s, gensiawre, yofusfie g9k, Wi,
SfremeTE, Yo, UEft fae crewmm qoad: SteasmersTaiie hard Jum wWRE AfEitehl, Sfae ufseer stiwnfred,
Safedivme a0 SagEEaTe I v qHE 2.

YR ST =" HehedHdT AT Saaaa Haffitd oo fafay Tgdt 9 aF Jet STURGe 39ad e &l
e gfshaT Tehiauel Shawmei sgm 3@ T <ar 3.

ST 8 TARTGSA shoves TG d epT8 AR SMURGS 38 o AaHTiad R YR Jeadidd Icaere qeg,
MY, I, | aHE Stardrgd Qe Hid ST siribehe arem e 3R, aie YRl ScteArs HEeH, e,
foerma 3 Tl QT fodoe sl S 3118, 81 3cdTe WTvad JoaT=aT STTUR a9 <aTeR Siigeh HTGHTT g8 SeTid vl
ATIIH IR, (T o AET TS HIECIT A=)

Read the following passage and answer the questions from 28 to 32 :

The concept of biotechnology is a wide concept encompassing procedures modifying living organisms as per necessity for the
welfare of human beings. The living organisms are inodified by various technical procedures for number of human requirements
being such as domestication of animals, cultivation of plants and improving plant variety through various breeding practices.
Modern technologies used for the purpose include techniques like cell, tissue culture and genetic engineering. The United Nations
convention of Biological diversity defines 'biotechnology' as : Any technological application that uses biological systems, living
organism or derivatives thereof to make or modify products or processes for specific use. In other words, biotechnology can be
defined as the application of technical advances in life sciences to develop various products.

Biotechnology also involves pure biological scientific disciplines such as genetics, microbiology animal cell culture, molecular
biology, biochemistry, embryology, cell biology and those outside the sphere of biology which include chemical engineering,
bioprocess engineering, bioinformatics and biorobotics.

Conversely, modern biological sciences are intimately entwined and dependent on the methods developed through
biotechnology and therefore all these together constitute the life sciences industry. Biotechnology is research and development
in the laboratory using bioinformatics for exploration, extraction, exploitation and production from any living organism and any
source of biomass by means of biological engineering where high value added products could be planned, forecasted, formulated,
developed, manufactured and marketed. These products should be used on sustainable basis and patent rights thereof must be
obtained. (legal protection at national and international level)

28. Y&w faumren foam &
(31) SIAATHTET Sifgeh AIGH 88 TEATIUd SHIuATede JE&ad: Towdrd.
(F) ST SRl wEE Fe9Y el

qtl'i'éﬁﬁi:
(1) <rg st (2) <= TH
(3) (37) SR T (9) Th (4) (3) SR T (37) TH

Consider the following statements :
(a) Biotechnology is basically used for obtaining patents.
(b) Biotechnology has nothing to do with economics.
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Answer options :

(1) Both are right (2) Both are wrong

(3) (a)is correct (b) is not (4)  (b) is correct (a) is not
29. i faremmren forem =

(31) SIaATHET S{ia o7 AT AT 91 JgH! 3 3™ AR

(9) S Ge3d: g 9 Hrel AN Suid o el wefifesd 3.

Wﬁﬁi:
(1) <t s (2) <& TH
(3) (37) SR T (9) T (4) () ST () TH

Consider the following two statements :

(a)  Biotechnology does not necessarily always involve organisms or parts thereof.
(b)  Biotechnology basically involves both pure and marginally applied sciences.
Answer options :

(1)  Both are correct (2) Both are incorrect
(3) (a)is correct (b) is not (4) (b)is correct (a) is not
30. SaaasEr 3w 3R wE e ?
(a) difh HIeA (b) iRl v /9mehR
(c) TSNS Gur (d) TS THTIE /EA
What is the ultimate objective of Biotechnology ?
(1)  Technological achievement (2) Engineering marvel
(3)  Procedural improvement (4)  Human satisfaction

31. HAAAAHE @ HeheUAT WIHIGUh ShivTdl 312 ?
(1) e SHuIETd! SEvas O S Hil.
(2) S T Y S0 SHUhE SI{dd 3Tk Sad™ Bldie.
(3) YOYA I TR TR .
(

What is the central theme of biotechnology ?

(1)  Modifying living organisms for their survival.

(2)  To invent new techniques for making living organisms stronger.
(3)  To convert basic sciences into technologies.

(4) None of the above

32. U@ faemren e &
() Jada= Fd Sifera IvamHe Sreum U it Sfae gk R,
(d) SIS IcdTed s Josl ATETd! IEdTd d a1 fal¥reaor Sisiesm=h sTrawehdr T9d.
T W
(1) 2 SR (2) el 9%
(3) (31) sUsR A (9) I (4) (3) SR () IH

Consider the following statements :

(a) Biotechnology is a natural Biological process occurring in all the living organisms.

(b) Biotechnological product many a time is an accidental product and doesn't have to be necessarily designed.
Answer options :

(1) Both are correct (2) Both are incorrect

(3) (a)is correct (b) is not (4)  (b) is correct (a) is not

YR AN AT cTeR SERA 33 A 36 T 3T &

T TG AEIh TSI Gard! HiHd a9 Ha[ 9 30 @HSeeR W@ rEl TEeT hdd. Sl
HIE ST UTfee! ST ST ¥ feid i 9% T6 T TSI  JvTe TR I gad §99 8ld 378, Hash 9
STETo] a1 e FHEAT TR Gd-AAHE Hd Ted. & Shal GeaTd i Toames JifaaesH a1 Ufshaatd STaoad 39, &
sk ¥e FTCAHAL o U1 ZIVATETS! Foel STTERIhal T8d. & Jishal qoidul TR e 372, AT Fishal HUTaral
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IO BIOTR T T8N, RIS Téd 3T 3t ATEid. IBeueh Samed TEad! oo Aad! d arsil gd1 A1 MEiges a1
fomToTr=n 3T HESHE! Tk 30 TR TEUH hahl ATdl. AT hieTaHiued Tuere HIURU: Job 9 HOsR i
JTSTITEIe3T, TS 379N o 3a¥ he=aTe Wd-ATdId ®Yal 2Ioare Ifshan el Jeg foaeh! Soe 1wq.

FIEE T WH I FEUEE! A @S uered uvame ey Uide FEv qIR Bld 9 aeddien
oEThd IAEAAAT AT M a1 ha3l SIMal; a8 & G MM JHHIa Tes Ugd dadrd. w@ren foshmmedis ardme
HICHE T HH 378 T 1 {Shmmeaties saeadi—T a1 qeret=n T Yoo qLast gial. TeRM, Bivhe d 0 @i
Teref 3TR AU Tehet hodl AT o TS JaTRIgR o SHeddi=al T d dgefae STdid. deial care SURNT Tehal Seddi<al
IEETS! g foha o SAfHERd TSI AT TEEUTd ST BlaTd 9 A ST @d-Adre FHidaEt smavee sHdet
T Feoh TEUT ho3l STl & WA-TTell YraT S =T aTearet auiet S, amed feg Jumen =1 Jfife 9= < murfamy
3Ted. FAEAAIHT SMeses WIS TGTef Fad Uehl fShToTrd ge=a fSshmft fthtd steard @ Sfeinyd Fa-=efa @i Jared =
1 WS T A1 91€ 8.

Read the following passage and answer the questions from 33 to 36 :

The forest manures itself. It makes its own humus and supplies itself with minerals. If we see a piece of woodland we find
a gentle accumulation of mixed vegetable and animal residues constantly taking place on the ground and that these wastes are
being converted by fungi and coat bacteria into humus. The process involved in the early stages of this transformation depends
throughout on oxidation : afterwards it takes place in the absence of air. The process is entirely sanitary. There is no nuisance
of any kind - no smell, no flies, no dustbins, no incinerators, no artificial sewage system, no water - borne diseases, no town
councils, and no rats. On the contrary, the forest affords a place for the ideal summer holiday with sufficient shade and an
abundance of pure fresh air. All over the surface of the woods the conversion of vegetable and animal wastes into humus is never
so rapid as during the holiday months - July to September.

The mineral matter needed by the trees and the undergrowth is obtained from the subsoil. This is collected in dilute solution
in water by the deeper roots, which also help in anchoring the trees. Even in soils markedly deficient in phosphorus, trees have
no difficulty in obtaining ample supplies of this element. Potash, phosphate, and other minerals are always collected in situ and
carried by the transpiration current for use in the green leaves. Afterwards they are either used in growth or deposited on the floor
of the forest in the form of vegetable waste being one of the constituents needed in the synthesis of humus. This humus is again
utilized by the roots of the trees. Nature's farming, as seen in the forest, is characterized by two things, a constant circulation of
the mineral matter absorbed by the trees and a constant addition of new mineral matter from the vast reserves held in the subsoil.

33. URTSEHAR ST Wi Had fresdra ?
(31) UTSTITETeATT (F) SO TSRS
(%) hash 9 Steehgd () wrdiqd

T W

(1) Ga @) (2) (@A E)
(3) & (3) (4) & (h)
What is the true source of minerals in the forests as per the passage ?

(a)  Vegetable residues (b)  Animal wastes
(c)  Fungi and bacteria (d)  Subsoils
Answer options :

(1) (a)and (b) (2) (a)and(d)

(3) only(d) (4)  only(c)

34. WP faummn fTem .
(37) @A TR BIvaT=h Uik arRpsiet 9 foemsiet 3.
(§) =9 @d gferan FaEut THd 3 AT

W’kﬁﬁi:
(1) Tral faam st (2) Trel faus I
(3) (31) TR T (d) Th (4) (3) TR T () TH

Consider the following statements :
(a) Forest manuring is both aerobic and anaerobic.
(b)  Forest manuring is not hastle free.
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Answer options :

(1)  Both are correct (2)  Both are incorrect

(3) (a)is correct (b) is not (4) (b) is correct (a) is not
35. WIGteUh! Hive faem ghm am?

(31) SFEd ufshan fia =Ime 3rEd.

(9) TaETedTd ot rfasr sfter .

(%) a4 AY, IcUTeeh, [ASTGRIH d JUITHT THATA.

(3) HHaTE SR AT A

q‘a’kﬁﬁi:
(1) (37) (2) (=)
(3) (® (4) =6 B! e

Which of the following statements is incorrect?

(a)  Natural forest manuring goes on round the clock.

(b) It is quicker during monsoons.

(c)  Forest acts therein as manufacturer, distributor and consumer.

(d) Man's interference therein is absent

Answer options :

M () @ (©

3 @@ (4) none of the above
36. Woio e ugt

(37) U T HiEhe 3 fSHUTET TG ST,

(§) = YA haes @d i gt

SATAT HAT
(1) <=l faam s (2) Tl faue I
(3) (31) W T (3) TH (4) () SO TR (37) I

Consider the following statements :

(a)  Potash and phosphate are brought from elsewhere.

(b)  They are used only in the formation of humus.

Now state whether :

(1) Both are correct (2) Both are incorrect

(3) (a)is correct (b) is not (4) (b) is correct (a) is not

Tt AR ST e SR 37 d 41 9T SW e ¢

T & SRS WS Td 3R, Wil Yewiiet HId e =oe f 3G9k 9 g id. shivrel fakie Higd
HTEUATE ST fa=aTd 3R, HSNAIS HIR TEITH TSR B & &Il ¢E S TEHYNHE 3772, W TaITaTdiies JeIvT a1
IIgge e FBaH g Sral. ot quiar JuTeR SESet wre 1R, fwaneffoun 3 it wemr reveE g 2. Sea
NIV TETENST HEHY GRAfaal degl STu1 Td- 31 AT J1ft Sadl. TeU[Ee 37901 A=l Hed hidl, cITe] HEuN grafal,
BT Gh hLal. FETIET I9 37 ehd ATel. a8 Fardt e 35 Tefte 3w wha . weorHE SErdt 9
ARV CES Sl ST U ShaTd. USR] 9 BUTATS] GreHTel e hed firesd. Ut Amge JTfees g@re,
JTHETET I9E a1 AT, T ST A3 ANSIUT F SHSRIen i g df g &id Sl

A T W T O FEYdIET FeTadd G U] HIEHT 3THS. HINAIG HoR HVE cEle ATl
AT HATGH U8 Wehd ATel. IRh=AT STRUET HEHd e ATV STRTIIG hivad TR Sidl. SqT=a1 §uR 86 3eh! 5w
AT TS AT Tehl FRZaR I, Tehl IHes Aol JHIE Ug Iehdl. T TEydiges SIeATat 39 9 STRITe
HOMT F& ared, fad fFgtar smieet v fowsr 9 fotia= firesr.

TR AMada! A8cd JTH 2ld. FRd! Feuree S, ST Wiad 214, AT Gaaedl d @l SAhiMT 3991 Hed
%% Tehdl. Y 99 gxar, srerfiuon 9 @ swe fa-fad s aeydie @i SEHet Behl H1e IRhdl. o=
AT HHT T IRl AT @I fehall WMIhTel G2 FHEIHA SAhI=AT T T el TEATA. Al RS GHal HE Wehd ATal.
TR 9 =T IS Tl 3T AT5 IS HYETA HThed 3Ted. T ot 3WEh, Foe 9 Hremdis TamiH 3%,
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BIhTeT ST 38 fohell deamTTeaTdies Siehrel I TRICId 3. SHTidie R S-TeTiHe e Teydiis &
Read the following passage and answer the questions from 37 to 41 :

Sympathy is a great secret of life. It overcomes evil, and strengthens good. It disarms resistance, melts the hardest heart, and
develops the better part of human nature. It is founded on love. It is but another word for disinterestedness and affection. When
we have sympathy for any one we see ourselves in his place and therefore we help him; we relieve him. There can be no love
without sympathy. Like mercy, sympathy and benevolence are twice blessed, blessing both the giver and the receiver. While
they bring forth an abundant fruit of happiness in the heart of the giver, they enhance kindness and benevolence in the heart of
the receiver.

Hardly can there be any other attitude generating love in the human heart. Even hardest of the hard core persons cannot
remain aloof of its influence. It enforces much more than force can. A kind word, or a kind look, can do wonders on those upon
whom coercion has been tried in vein. While sympathy invites love and obedience, harshness provokes aversion and resistance.

Sympathy glorifies humanity. It is synonym of love. It enables us to help the sorrow - stricken and the oppressed. Wherever
there is cruelty, or ignorance, or misery, sympathy consoles and alleviates. The sight of grief, the sound of a groan, hold a
sympathetic mind. Sympathy and justice have eradicated very many evil practices of the world, be they abolition of slavery in
America, England and France, the uneducatedness and ignorance of the people or the backwardness at the lowly people. The
sympathy that the great people had, could only bring in the improvement for all these.

37. ST ERAVIEN SLAUET FETIHe S IR 213 Ieheld ShILuT —
(37) THET FEATHT TN AT SHAT el HETAIETE GE=T RV WA 378,
(F) STEETH BV 9 HEAT Gat ATE B T T IR,
(%) Ueh =TSR Yes Veg =0T firesfevamed shmmest Aat.
(8) TEMMIgd STRIIG I IH TR SBleh fHeg IThdTd.

‘Rﬁzﬁﬁi:
(a) (31) Ao () (b) (3) 3T ()
(c) (31) amfur (%) (d) =i ud

Autocrats will be able to rule more successfully with the help of sympathy than with cruelty because :

(a)  Sympathy has the capacity to touch one's heart more than anything.

(b)  Their 'don't care' policy is not a correct policy.

(¢) Akind word goes a long way in establishing control.

(d)  Sympathy brings in love and obedience.

Answer options :

(1) (a)and (b) (2) (a)and(d)

(3) (a)and(c) (4) all the above
38. TR § I WIS U i 3R ?

(31) RN ATRETT SIS S0 IR AT

(9) SATG Sadl TEATd SHuar 8 Ueh 916 318,

(%) TSIl BiehTatel T HUT IS I Bl

(3) UrEnf gy e v St w1 g wehdl.

‘Rﬁzﬁﬁi:
(1) () (2) (@) Fwn (=)
3) (® (4) (31) 3fn (8)

Why is sympathy one of the great secrets of life ?

(a) Because life is not possible without it.

(b) It is the best way to establish world peace.

(c) Itis possible to rule over ignorant people with it.

(d)  Alittle show of sympathy can win over people.

Answer options :

1 @ (2) (b)and(c)
3 @ (4)  (a)and (d)
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39.

40.

41.

TEHAST TS s (el sviaie) o w1 TEes SR ?

(1) I SUMATST ATE AT Fed . (2) HRT ATHS UTATHE TR O dTed.
(3) HTOT BT BT QUMTATST JATaie &l (4) TOGUAH HIve! AT

Why is sympathy a twice blessing:

(1)  Because it gives to the giver extra fruits. (2)  Because it creates double sympathy in the giver .
(3) Because the receiver blesses the giver. (4)  None of the above

TN HTIUT SHTHEA Tehal |1 Iehal HIT :

(31) TENI= ST At 3R,

() AT Tehdl B CEl? BleheheaTuTT=ET Ueh W 3712,

(%) WGWTd 7 HiaT HaTd! IAT T EF TR 8 3R,
(8) EYWE I AT ATETS! SICATST HET & HTeHT Tehat S,

W’i’ﬁ?ﬁﬁ:
(1) (3 (2) (31), (@) 3l (+)
(3) (3) 3fn (*) (4) o gd

Sympathy can help in uniting the world because :

(a) the scope of sympathy is wide.

(b)  unity of the world is a part of public philanthropy.
(c) it endeavours to alleviate all without discrimination.
(d)  itunites us in a bond of peace and brotherhood.
Answer options :

1 (@ (2)  (a),(b)and (c)
(3) (b)and(c) (4)  All the above
T <hTEt aTge e Wigha femean srot :

(37) HTE BIHMT BT T HBTA.

(9) T S -JEA AT ATEE VAT TE BT Blehiedl ST T6d-B1 39 UTee.

(F) HIE BT BIhhATITHE fovard STl

(3) TEMM 9 = A1 g MEIge A1 g1 WA ferdie 3m Srél soren favar giar.
It S

(1) (39) (2) @)

(3) (@) o (=) (4) (@) Zfon ()

Some of the world's evil practices were eradicated due to :

(a)  the capacity of some people to understand the problem.

(b)  some men and women put themselves in the place of those who were at the receiving end of the practice.
(c)  some people believed in public philanthropy.

(d) some people believed sympathy and justice were the answer to the problem.

Answer options :

M (@ @ O

(3) (b)and(c) (4)  (b)and (d)

JEIeT AT AT TeR STETRA 42 F 45 T9Te ST 0 @

GUTSTE, AHEESIRITER, deas 3T SHE AR 2 6’ I Hehed-a 7Y 3 Sedg Hisdid. GaamdT= HToTETs!
A ‘g’ TEUS A, o HEHl "G FHd fohdl O 3T g HISW SHeGd Tiiesl STHTEl cTal STETer™ 9al. guien M=
TS TS 3. gmie Fae e grdt A, of S=ed 318, 97 S Fesdl A9 el THd, AT ANHE TS
T ITEAT? HET Feadl 7 W I FSdl HERNT, FaAIqd. SEHIUIET 1 G, &1 guidie fadi-3u=miet, qonsh wh
Sracdieh T BId. A1 Saedtehiqd 99 0T 8id. a1 YT, Safesehld Hoadt Guardar ared. Hocdral e Fad STSwITHT
A 3TETEE ST, FTacd Fguret gad, T0H, FRat 31feded. a1 ardcmandt e seeen STaNEr 3td. SIase Siel 3e-h

Tt gra T foeamm fafvea foemufsrar smq. oriegewen TR gvammE! foemufshan 1@d. o s ?

@
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I WiadTes=a fotie geie 3o STHed AVHIST 916 318, d0ad A1 geiae 39 UM &1, d INLvr soare
AT BTG 3c9d 910! 3. 390 o I-IdHI 918 HIVE AHes 34, iderr e o df SEEd e 3.
IS S0 GO 3T, IR AR, WEAGH! 38, HGEG R, A AN TS G IHS. A=ee! a1 geaet
SfieyaTg W 3TEE, A, qh, BB S AREd 3R A= Wi A0fa ST S THS. SaATdie Smead-atr=
eI Y, 7 A e T 2 390 Jfes, 28! TS Jvas 3T8mE. 2 JgmE o fa=m sftn wdt = St W=
318d. @ fashrel oo araea! aifes. emedis fovardre F8d, #gd ST e 1w ff HEW et wEye S,
o1 ATE W IR 378t Saraeh syawer fohar At wevee . 2 S SHeTdd WU 3R, o SFaedd Hoed
UM BrATd. Ted guiaal GURON gd, Fa1 gi-ur fmior g 3feaa o,

42. T AT AAEHIAT 1 STl ?
() o1 FHId 3TEal.
(§) oS HoETST FAeaa ared.
(%) YW= T WUETAT 7T YHiges 39 i .

() g far atEal.

T I

(1) (31) 3or () (2) (=) 3mfr (3)
(3) (@) 3 () (4) () 3 ()

43 oW UIUTETST HEYEUT Al 3T T TS I ?
3. HEU AU gHiaR st et snfor € s wret srive w5,
g, o "o fekre uresdl.
. RO YT UTesUl TEUS ST W S0 ITEd.
. SR g & gad 3TEd.

qfl S
(1) (=) Zmfor (=) (2) ®&® ()
(3) (1) 3o () (4) (31), () 301 ()

44. T VTR AIUTETST SRTEHAT St 3 ?
. HAV IS SO AT TR & ATHT hed.

9. RO IS S0 GO 3R 7 TS Hhasd.

. SR AT Jogd YU G¥Esh ATEUR TRl & TS hasd.

T I SO Heffadl UV 9T RITYET STIT ShTEfad 31U Shes dTfeS & HIVHTGT hedd.

e W

(1) (31) 3mfor («) (2) (=) Zafor ()

(3) (31), () 3nfor () (4) (@), (%) =i ()
45. TEHMETT QIOTETST O TEUTS hid o i QI 79a ?

3. HRU GH AT HeheU@T 3T B IFHA.

g, HRU gH M Th G99 eV TGS Tl

%, guEl TS AHEH ST

T o RN S d AV HATET STEEE & hosdl FHdl.

W’i’ﬁﬁi:
(1) (=) 3mfor () (2) (31) 3Mfr ()
(3)  (31), (@) 3l () (4) (31), (F) 31fn ()

Read the following passage and answer the questions from 46 to 48 :

Is India becoming a proponent of apartheid? Not apartheid based on race, but on gender? The recent proposal to create special
banks which will cater only to women customers has created a controversy. While the ‘women’s bank” has been widely hailed by
many as a socially progressive idea in that most women would feel more comfortable dealing with other women in a women-only
situation, there are dissenting voices which say that such proposals, well-meant though they are, will serve to further ghettoise
women in an already oppressively male-centric scheme of things.
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Proponents of this point of view argue that what is needed is not to co-coon women in protective environments specially
reserved for them - be they in the form of ‘ladies’ coaches in trains or in the Metro, or ‘pink’ auto-rickshaws meant only for
women passengers - but to enable them to share common public spaces and services with their male counterparts without fearing
for their safety.

‘Women’s only, banks, and similar facilities, isolate women from the social mainstream. Such discrimination, as well-
intentioned as it undoubtedly is, consituttes a form of apartheid based not on race or skin colour but on gender. At best, it is
like the ‘equal but separate’ policy that some southern American states followed, whereby ‘coloureds’ and white people had
segregated schools and separate seats on public transport.

In effect, this is another way of saying that the ‘solution’ to violent gender crimes like rape-which is a horrifyingly everyday
occurrence in India - is to lock up women in the safe custody of their homes and not allow them out in public. The response to
such ‘solutions’ of course, is that it is not the presence of women in public places which is the cause of rape but the predatoriness
of men, who are the ones who should be kept under lock and key where they can’t do harm to anyone.

The only real and lasting solution to crimes against women is to stop discriminating against them, even with the best of
intentions. Instead of being ‘protected’ from men, women want men to be educated - or rather, re-educated - on gender issues so
that they no longer pose a danger to women.

It’s a long-haul solution. But it’s the only one that we can all bank on, women as well as men.

46. Women’s bank in a way :

(1)  Protects women all around from being oppresed
(2) Emancipates women from the clutches of men
(3) Confirms and perpetuates male dominance
(4)  Gives economic freedom to women
47. “Ghetto”isa:
(1)  Place where marriages take place with or without the consent of women.
(2)  Custom where women live in salvery against their wishes.
(3) Place where people of a group live in poor conditions.
(4) Place where the undertials are tormented by the law enforcing agencies.
48. What would women want?
(1)  Special protection
(2)  Men should be kept under lock and key
(3)  Parity with men
(4)  Economic freedom to get fully emancipated
Read the following passage and answer the questions from 49 to 50 :

A terrible combat ensued. The shark and seemed to roar, if I might say so, the blood rushed in torrents from its wound. The
sea was dyed red, and through the opaque liquid I could distinguish nothing more. Nothing more, until the moment, when like
lightning, I saw the undaunted captain hanging on to one of the creature’s fins, struggling as he was, hand to hand with the
monster and dealing successive blows at his enemy. Yet unable to give a decisive one.

49. ‘A terrible combat ensued’ here implies :
(1)  Abattle between the two sharks ended.
(2) A contest between the captain and the shark ended.
(3)  Abattle between the captain and the shark followed.
(4)  Warfare between the captain and the shark concluded.

50. The writer describes the captain as...............
(1)  scared (2) angry
(3) disturbed (4) fearless

51. ReTEAl HiF SIS 3T, hedt, IR T W @ 2 WSS! 3. TS T hedl T waid T&a1 T0H 1R, Foreg shebiean
T ATEA. UL EA Torek & <hebl i groman wedean sachl 3/4 3R, T s e 1000 Web 31Tga T &

W 7 o =ht srgER T fondt sl ?
(1) 320, 360 (2) 360, 320
(3) 120, 360 (4) 160, 320

Three containers are filled with mangoes, bananas, chikkus and pears. Mangoes and bananas are equal in number.
Chikkus are double that of bananas. Pears are 3/4 of that of chikkus and bananas together. If total number of fruits
in three containers is 1000 how many pears and chikkus are there?
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(1) 320,360 (2) 360,320
3) 120,360 4) 160,320

Aaﬁﬁmaﬁm&:@ TR HIGHT al caTen 372 3T, X + 5 3, Y 1 Hehd hIUTATEl HATHRN
HTEHT At T 1ok 3N, y2 A x Ut y AT EEA 3. R e wohh fhwa fodi

A + 2 T

(1) 425 (2) 104

(3) 58 (4) 18

A symbol A, drawn to any size, means X +5 and the symbol Y drawn to any size means 42, where x and y are
numbers. Then what will be the value of the given relation ?

A + 2 T

(1) 425 (2) 104
(3) 58 4 18

200 HieX Saieh Uk ATTS! aoft 48 fR S Wemidar 331 e HIUMETST UR . STae! Iaesn faom amoft
60 Termt ST SO 150 Hiet Siei=it MEE & AUHETST UR . o1 S TSSAT & AIUTETST R ST SHu=a
Aoba femetien weh U=l ?

(1) 6 fufe (2) Y, fafwe

3) °/,fufe 4) 6 ¥Hg

A 200 m long goods train crosses a man standing on the platform at a speed of 48 km/hr. At the same time another
goods train 150 metres long crosses that man at a speed of 60 km/hr in the reverse direction. Calculate the difference
between time taken by both the trains to cross the man ?

(1) 6m 2 Y, m

(3) ’f oM (4) 6 seconds

Tehl YT58 TAINH T Segl YIsaieil Ueh 311e5 392 TgU facht ST, wmaell @ o= o 3iishiest Ueht uredia weht fafore
Framar srafem Tenfea . et 3ge U eadt migd a weeaTrean ura=n fesemn sga.

$19e - NO, GO, Fit, COUNTER, FORCE, I, TURN, NET
e | - I, NO, GO, Fit, COUNTER, FORCE , TURN, NET
e 11 - I, GO, NO, Fit, COUNTER, FORCE , TURN, NET
T - I, GO, NO, Fit, NET, COUNTER, FORCE , TURN
L cUl AR I, GO, NO, Fit, NET, TURN, COUNTER, FORCE
il vV - I, GO, NO, Fit, NET, TURN, FORCE, COUNTER

SR 3AYe “Class, Rat, An, UP, PEN, TRUE” IS R,

“An, UP, Class, Rat, PEN, TRUE” g <huTean Ui aéws?

! 2) 1

3) I 4 1v

When a line of words is given as an input to a word-processing machine, the machine rearranges the line in a step
by a definite rule. The input and the steps of re-arrangements are given below :

Input —> NO, GO, Fit, COUNTER, FORCE, I, TURN, NET
Step 1 — I, NO,GO, Fit, COUNTER, FORCE, TURN, NET
Step 1I — I, GO, NO, Fit, COUNTER, FORCE, TURN, NET
Step 111 - I, GO, NO, Fit, NET, COUNTER, FORCE, TURN
Step IV — I, GO, NO, Fit, NET, TURN, COUNTER, FORCE
Step V_ — I, GO, NO, Fit, NET, TURN, FORCE, COUNTER

If the input is, "Class, Rat, An, UP, PEN, TRUE" then,
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55.

56.

57.

"An, UP, Class, Rat, PEN, TRUE" will be in what step ?

(H 1 2 I

(3) I 4 1v

Teht fohehe WoaTSell ©ig ThehvaTell TG 24.85 &en Ufd foehe 2iet. Toht Hemed @M 52 e 334 5 faehe e,
TR T Tig WehvaTe TR .85 Tadt Sl Soht o 3ifom W Wesvange! < Saasean fashesit wean et gt 2
(1) 64 2y 72

(3) 80 4) 96

The balling average of a cricket player was 24.85 runs per wicket. In a match he took 5 wickets, giving 52 runs. Then
his balling average got reduced by 0.85. Then how many wickets had he taken, before playing the last match ?

(1) o4 2 72

3) 80 4) 96

0, P, Q g U T 9T & 37gd. fafdte sham Fochean = st géies Hifgdt ara.

(31) THTT Hur=En W ST, uet 9 fidwsT Aw. (F) THTT F9T= T B, TS 307 el 3178,

(%) HIVATE! T Tehl T AT, (3) T= O =1 UM TT fUerest A&,
(3) = P =1 HurEn W e e (3) TF Q =T HUTET T U@ ATEl.
(3) = Q =1 =l U1 &re . (%) "= 0 = w3ft vigh 2.

9 P =1 990 9 HUTET STIHA TT HI0TaT ?

(1) el o 7 (2) Toee 9 ot

(3) S 9 Ul (4) ToE g feet

O, P and Q are three sets of cup and saucer'. Read the following information about these sets which are not in any
particular order :

(a)  Cups are blue, white and yellow in colour.

(b)  Saucers are red, pink and white in colour.

(c) No setis unicoloured.

(d)  Cup of the set O is not yellow in colour.

(¢)  Cup of the set P is not blue in colour.

(f)  Cup of the set Q is not white in colour.

(g)  Saucer of the set Q is not red in colour.

(h)  Saucer of the set O is white in colour.

What are the colours of saucer and cup respectively of set P?

(1)  White and red (2)  Yellow and pink
(3) Red and white (4) Pink and yellow

(31) P,Q,R,S, T 37T U g waT foameff amed, S smamesn fawama weeg vl st &ia a1med. e faw
(§) A=Al §F U1 FEfRTETd UgdTd, Sl USTHIEE FEU Tedrd ST 3G g STaTIen B UEdTd.

(%) R ULTREE ATEN MO Aees=e T Bl

(2) sfoeram reem o foemel smuen = wadr i wifeash srerem s foeme tmiee mBum Tsd .
(3) T Wit @ S Wfqhymam 31e= S,

(

3) Tﬁéﬂﬁ%‘e@ﬁr@a‘raﬂﬁQmaﬁm

TGB! ShIUTd] Sl ST ATE ?
(1) U - sfaem (2) P-EwSH
(3) P-UETIE (4) R-Td:d =W

(a)  The six students P, Q, R, S, T and U are studying different subjects at post graduate level. Their
subjects are English, History, Philosophy, Physics, Statistics and Mathematics, not necessarily in
the same order.

(b)  Out of them two live in hostel, two live as paying-guests and remaining two live at home.

(¢) Risnot paying-guest and studies Philosophy.

(d)  The student studying History, lives at home and the student studying Statistics does not live as
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paying-guest.
(e) T studies Mathematics and S studies Physics,
(f) U and S live in hostel.
(g) T lives as paying-guest and Q lives at home.
Then which of the following pair is not correct?

(1) U - History (2) P -English

(3) P - Paying guest (4) R-athome
oAergTean SRl g ggi et

I Audio = 85 3T8S, Video = 80 318, O Radio = 7

(1) 88 2) 83

(3) 47 (4) YT VAR ATE

Select proper alternative in place of the question-mark ?

If Audio=85, Video=80 then Radio= ?

(1) 88 2) 83

3) 47 (4)  None of the above

A,B,C,D,E,F, G, H, I 301 J g g1 @€, X 301 Y I 1 AR faumes 2ied. T JHHed are §e8 3ATed.
A ST AT THRIEHR 319 THES 318 F@fae 1R hi <X S Ueh! Seear=al sfisr 9HR Y S Uk 936
TR & T A UshHehihe 3ATed. ‘X’ JH=a1 U&=l die I {a9ie 314, D, A =1 Soetehe faemn e, 3nfun G ==
TUchaH THR 981 3R, B, G 41 (ehead SSTiche TH@T TR, U1 &= diE 2fuiehe 3R, H, B o1 I9etehe faa
30Ut F = Ushe® HHR sEe 3118, C &1 A U1 E =21 Hed 315 1 o001 WHR SHoa 3118,

WIHIGUR! FHIUTAT SHIEE THTE T THSHT 3L ?

(1) HIE (2) ACB

(3) CDI (4) HIG

The ten members A, B,C, D, E, F,G, H, I and J are divided into two teams X and Y. Five members are in each team.
The members of both the teams are seating in two rows, such that, exact opposite of each member of 'X' team, there
is a member of Y team facing each other. The members of 'X' team are facing North. D is third to the right of A and
is seating exact opposite of G. B is immediate right of G and is facing south. H is third to the right of B and exact
opposite of F. C is between A and E and exact opposite of 1.

Which group is seating in the same row ?

(1) HIE (2) ACB

(3) CDI (4) HIG

TRt gdiera TeRut feremeatean 35% feremeft et = oA srwivl e; 45% feremeft Fefia ewRivt T snfur 20%
fereneff =t forrma sRitt Tk, o) ugut ferememteen visken fohedt feremeft G fervama Sl T 2

(1) 10 (2) 20

3) 30 (4) 40

In an examination, 35% of the total students failed in Hindi; 45% failed in English and 20% failed in both. What
percent of total students passed in both the subjects?

(1 10 2) 20
3) 30 4) 40
U AU YEie T oot varame FHaer.
B DD _ Fw U[U F|L_D
W B L W T ?
F uu W|F D|D LIF U
D F U
M |ut @ |r°
3) D . U 3 [T y F
F T L
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Select the figure from given alternatives, which will continue the sequence :

B DD Fw Uju FL_ D
W B L W T ?
F UuU WF DD L|F U

D F U
M ot @ |7°
3) DLU 4 TUF

F T L D

HIUTH FHUTAT SIS TR et HIUTEr=an Haeit TaT S19f St 31 3 Bieh Siehviel 3T g aTerTd gaTd. AT
T AT gHISAT A2ATel aUiF d 9 GER AR Teeedl q2dre dui ThEd. ATeaTdehl THWUT a1 WIS Saiad
YU 3. T UThiveaTan foehe TS et Yol [Wesfauarddt gret a2 e oier. o fewmof
g eaTeR TSl B SET T g GO 1 Seh! JRaTol 3TEesedl. ATl il T 331 Yeame Srgst
T B SEgT IFE TRt 6 hosl degl i Jete uferg fae,

3T TEUTIAT, ‘2 WIS U 3T, UUT Ht AT I8 g4 .

& RO, WIS U TR, I Mo Wt Sei o,

A TN, H hefie et T A AT Y waad g9t e,

TR ST ehivTeaTen Fer fresdics ?

(1) 37 9 =0 g (2) L fopan

(3) W FFH (4) e g

In a small village in no man's land, brains of people are wired to answer inquiries in two sentences. One of the
sentences always describes the fact as it is and the other describes nonexistent thing. One among them is the best
archer of the area and you are there to get some tips from him for developing your archery skills. On reaching the
place you find three persons sitting in the shadow of a banyan tree enjoying gossip. Two of them were busy mending
their own arches. When you started inquiring with them, their responses were as follows: Aanu said, “This is my
arch. But I am not the best archer among us. Banu said, '""This is not my arch. Aanu is the best archer of this village.
Chanu said, "I never touch the arch. Banu is the best archer". From whom will you get the tips about archery?
(1)  From both Aanu and Banu (2)  From Aanu or Banu

(3) From Aanu only (4)  From Banu only

TRt FaSUrRia 8% AR WAGH ohb ATel. A1 FaSUhia Wk giM< SHEAR gid. faga sioean SHeaR™ TeRut Harea
48% vt e @™ 1100 WA g1 IHGARTEN TOHd hal. T FHagupshia Tehu waar fohdt 2 ?

(1) 21000 (2) 23500

(3) 22000 4) 27500

In an election, the voting power was not used by 8% voters. There were only two candidates in this election. The
elected candidate got 48% votes, out of the total votes and he defeated the other candidate by 1100 votes. How many
total voters were there in the election ?

(1) 21000 (2) 23500

(3) 22000 (4) 27500

anft 60 foh. . TR Teama TR dBaR diged. SR AT 20 f.H. I arefaet @ U a Gaet Tgkd, T HARS TR
feRdlt aTaR a2

(1) 240 f.d. (2) 250 for.dt.

(3) 260 f.d. (4) 270 fep.dr.

When the speed of a monorail is 60 km/hr it reaches on time. If the speed is increased by 20 kms it reaches one hour

earlier then how much distance does the monorail cover ?
(1) 240 km (2) 250 km



65.

66.

The Unique Academy

(3) 260 km 4) 270 km

@, ,*, $ 3TAUT % =1 Hferehtan 372 YEIHIHU! STV HSHT STE.

P& Q= 37d 3R, P, Q U &M ATEL.

P* Q= HY 3R, P, Q Y& HWI3T AT,

P % Q = 31 317, P, Q Y&l HIST ATt o1 Q Werer AT,

P $ Q= Y AR, P, Q Y& T ATE AT Q TdeT .

P@ Q=1 379 318, P, Q Uall HISTE ATe feham Q Uam TEma AT

oo faami g urE, @EEd Hece dF fsed 1 11 11 36 Ffeaaur s/ a3 /3med d Sy

AR ITETS A g3t e,
IEDIER B% N; NOF ; F * H
reend I - HSN
Il - F%B
11T - B%H
(1) & 1 307 [1 93 3T8d (2) & 1 30T I11 9T 3AT"d
(3) Wh 11 M7 111 & 3R (4) THE T T

The meanings of @, 8, *, $, and % are as follows :

P & Q means, P, is not less than Q.

P * Q means, P, is not greater than Q.

P % Q means, P, is not greater than Q and not equal to Q.

P $ Q means, P is not less than Q and not equal to Q.

P @ Q means, P is not greater than or less than Q.

Considering the statements true, which of the conclusion/s I, II, III is/are perfectly true ?
Select the correct alternative.

Statement : B%N; NSF; F*H

Conclusion : I-H$N

II - F%B
III - B%H
(1)  Only I and II are correct (2) Only I and III are correct
(3)  Only II and III are correct (4) No one is correct
JoAergTea SRl g gai et
16 12 17
22 18 15
19 15 16
35 27 ?
(1) 19 (2) 29
(3) 33 (4) 32
Select proper alternative in place of the question-mark
16 12 17
22 18 15
19 15 16
35 27 ?
() 19 2) 29
3) 33 4 32
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AR I T, I Ui SehaE srE Hed! .

T A B C D E
|
2003 15.6 22.6 18.4 16.6 24.2
2004 16.8 20.8 19.2 18.2 23.8
2005 18.8 24.2 19.8 17.8 25.8
2006 18.4 26.4 20.8 19.8 26.4
2007 20.2 28.2 22.6 22.4 28.2

TS A 0T B e 6@ auiean TUedt Siehdead, T4, C, D 3T E fiem | auiean auadl Srehaeastt dswa

THT0T R ?

(1) 51:82 (2) 53 : 81

(3) 52:383 (4) 53 : 85

The population of five states, of five years, is given in lacs, in the table :
Yearssfates_) A B C D E
2003 15.6 22.6 18.4 16.6 24.2
2004 16.8 20.8 19.2 18.2 23.8
2005 18.8 24.2 19.8 17.8 25.8
2006 18.4 26.4 20.8 19.8 26.4
2007 20.2 28.2 22.6 22.4 28.2

What is the proportion of the average population of all years of the states A and B taken together, with the average
population of all years of the states C, D and E taken together, respectively ?

(1) 51:82 (2) 53:81

(3) 52:83 (4) 53:85

fedbea seeam steaan W frfolaa Jeedie AT Jum geis ug wneT :
F@53RS$IPEIH%IQ4B8AW2UG6*9ZNMOV

5RI; 1% Q; 8WU ; ?

(1) ON© (2) 69Z

(3) *OM (4) #ON

Learn the system and find the next term in the given series :

F@53R $ JPE1H% 1Q4B8AW2UG6*¥98ZNMOV 5R] ; 1%Q; 8WU; ?

(1) ON© 2) 69Z

(3) %OM (4) %ON

TIH 18R FIRIUTEEA ot STaEdl i 3R o @I, & SHTEdT1 SRR Faid TIGeal SeaR qHeat I iehgd
ferer s1eR o ?

1 A 2 C

(3) F 4 J

From the following alphabet triangle find out what that system is. On the basis of the system, which is the third
letter on the base line from your right?
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1 A 2 C

(3) F @ 7

Freriur ABC g1 TSt FreRiun oM. T OBC g Fmigys Frehiun 3. SR £ BOC 1 100° =1 3@ ® ACO feredt
I ?

A
O
’\
BC
(1) 20° ) 30°
(3) 60° 4) 45

Triangle ABC is an equilateral triangle. Triangle OBC is an isosceles triangle. If angle BOC is 100%; then how
much will the ACO be ?

A
A
AN
BC
1) 20° 2) 30°
3)  60° @)  45°

AR,

R e
T Og 2 - BB
EiChic - PP
3 USAS - WW
Teh U1 9 U Og, - WB
T TSI F T U - WP

HUHAN T ST SalcH VTIHN TSHES hl, VAT SSATHLD ot AR AR, < S @& g=amer 3. SR WB
U1 PP B9 STaee To 3T ATV T TR TEGUh! hIVTIE TS T8 R WW 318 Sae 1 SR 316D
1 SSATEAT ATEdid ShiUTd e el 310 ?

(1) RIVAE I%] TS1e T89S, (2) T I TSIIS IS

(3) U o TG . (4) TH T W 3.

There are five similar boxes, having labels, indicating the description of the items contained in them, as follows:
Items Labels

Two Balls - BB
Two pens - PP
Two Watches - WwWw
One watch and one Ball - WB

GD
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One watch and one Pen - WP
Some one has changed the labels on all the boxes, such that, no box contains the items, as per the label on it. If the
boxes with labels WB and PP are opened and no item is watch, then which statement will be true in case of the box,

having label WW ?
(1)  No item will be watch (2)  One item will be watch
(3)  One item will be ball (4)  One item will be pen

A, B, C,D, E, F 30T G Tehl FiZaTo 96t 3TTEd, SAHEN TR TR ST 1 diceh 3Ted, TTaeht a1 F 311t G gait
JTRA. A 3T D g WIS 316 A SiekeR 312, E Ueh SRR 3197 g7 Wiaiieht ushreie faargeg 3Wd E &1 g1 31U
3Ted. B, D Hiad faanfga a1e; onfit G &< 379 AR, @ C hivT 3718 ?

(1) A=mygem (2) E =it goft

(3) F3 o 4) G =19

A, B, C, D, E, F and Gare the members of a family. Out of them, four are adults and three are children, of which
two, F and G are girls. A and D are brothers and A is a Doctor. E is an Engineer and has married one of the two
brothers. E has two children. B is married to D and G is their child. Then who is C ?

(1) SonofA (2) Daughter of E

(3) Father of F (4) Brother of G

Teh T YUT IS halle! AU 10 fas &t SRmE. @ a9 hH wEel Gemel deEuet 15 fGem swa
BATATA. SR el ST 3787 el Wi 3 M 12 TaEma Ui ohid STHdie at 18T ST SeaHel ¢ i Ut shiael
ferelt oo oo ?

(1) 10 feam (2) 25 feam

(3) 27 feam (4) 18 feam

Kabir requires 10 days less than Akshay to complete a certain task. Satyam takes 15 days more than Akshay to
complete the same task. If Kabir and Akshay both take 12 days to complete the task together how many days will
be required by Akshay and Satyam together to complete it?

(1) 10 days (2) 25 days

(3) 27 days (4) 18 days

TH! FEATTUA SENSTShTEAT Uei STTERRIA SRR T GHEATRS 3 Joil STHcATo B g JTHeaTe TehR hosl 3R,
AT STEatswE SR ferdt amest Teea o et araerdia Aed % Iieha ATEa g fon qraTet ATl 3T,
T T S ?

(1) Yo TqaeeH e faost TRICsit amaT shvameret aeg e 9 I qrguamdrdl e,

(2) A FSAEE TICIH TAT STTEAT HUS.

(3) faor gefed faunmeneg ThR Aieiauand anmes.

(4) B ATHTNTS HTSMBI Ta=AT I JTER HUATE S,

You as an administrative authority have been approached by a house wife of a well-established entrepreneur
complaining harassment for having two daughters. She also informs you that her parents are not financially well
off to help her in this matter. You would :

(1)  counsel wife to empower her to face the situation and wait for the result.

(2) arrange counselling sessions for the couple.

(3) askher to lodge a complaint with concerned department.

(4) ask wife to make husband's behaviour public through social network.

RfEe : IMEAT TaTdie I YRS Teish Fearhs Heaaied S awedt gron ffvaa wa omg, wwon
TEATN ARG AT W1 FTEASvaTean foSa G AUIR $-hic Wi UTvaTd e A giud iea™ g STeam. A
TS HTTaETt, ST AIUTR AT ST ASHTR g a8 SISt 20T S Soe Sdl. Aigeet gomdt
UITERUTE g BId. TEqd: ASIas1 IMElih UgdiH griesedrd al Higd Taren Uk g |id 1R,

3T STAATE VT Feed F STORvET TR URUTH 2ia 3TEHE Iared STHuT=1 TSI JARIT feare T& 60
25 3R A T 6 TFFATURT 50 285 7T TeA e AU SHIATd. 3T TUATE! THRUT A TS AT o TH hl, IEAT INed
FYHTH LT ¢ FNEHM U0’ ST ATHED I aren S0 | hedTe SUT=AT THR URUTHIETE SHHTHET SRf

GD
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IO o AT AT SHA0T AT SIHTE SR, T TR BIehiIETUT SATMEHT 1Tt et Sageehan oI 3 amed.
U9 — TR GRETAT I BIHSRTA STEEHTE el TR U WA a e MEIshATTHR 31907 Shiotd a9t
AN S ?

(31) ETeare HAfia TR ITSTeR YEH SEvIS JARAEATEd® SI0TR HTdeh THomH HHl g,

(F) TETdIe e aERul el dadal J5e.

(%) T wias1, foRa: aeaet SiasT e I56.

(3) N ITGHAT T FLFTEIA IR e,

TRt I
1 @), @), @), (3) 2 (&), &), @), (3)
3 @), @), (3), (3) @ (®), @), =), (3)

Situation : Government has formulated a policy to ensure that each family in rural area of the State should have
a toilet as most of the diseases and epidemics are caused due to e-coli found in human excreta carried through the
use of contaminated water. The loss of human life, mandays wasted and the loss of wages due to these ailments and
expenditure required to be incurred on the treatment is enormous. The embarrassment to the female population
is another factor, so also the village environmental pollution caused. The Supreme Court interpreted Right to
life means life with dignity. In fact, human excreta, if treated scientifically, is a rich source of organic manure. In
spite of these provisions and severe consequences the percentage of rural families having toilets is only 60% and
out of these, who are actually using the toilets is only 50%. The failure is ascribed to the fact that toilet policy is
"Construction oriented" and the element of educating and sensitizing the people as to the adverse effects of the non
use of toilets is squarely missing. It is felt that a strong public education campaign is the need of the time,
Question : If you are assigned a role of preparing a public awareness campaign, which of the following elements you
would incorporate in order of priority in the design of the campaign :

(a) Regular use of toilet reduces health hazards of open defecation

(b)  Maintaining the ambience of the village

(¢)  Maintaining the dignity of the human being, particularly women folk

(d) Boost to farm productivity and economy

Answer options :

(1) (@), (b), (c), (d) 2) (@), (c), (b), (d)

(3 (b), (), (a), (d) 4 (d),(b),(0). (@

76. IMEA AfdAet T Al T U g ikl SRRl TrERt Jvaedt aeu werRt ag wua Sareert
TSR Y. ¥ T ASHT Ueh WA FHThNE! ae FUI a1 Afdren 7eed 3. a1 Sfasen Prerariemdte
HATA ATE ATATEAHT FRIA GH-A1 Uehl Hae™ JH<A1 SETd AUE oo i 31k FHoTehR 3 a1 7-eR HoTemr=al
TS 3T a1 e urell fereneatean TReidies sTigd. qrel shid e ?

(1) FHorEt o 9 i fag deumeattsa gvame o e fery IR oA fomd s,

(2) =1 it e f@cediasa T @Ie 9 Fat 91 ShE! Whed JER He.

(3) il dcehles & St fol s e e Afd=h AT .

(4) weaT= A 9d HEEHT HAifed TS SHIUATHIE aTes e oo ATEHeaT YHII=T e, HewTd BIuNT Te 37eft
IS U3, At AHied J1e! forepfoa vam=ht fodt .

You are a government representative and a member of a committee that has been given responsibility of selecting

young artists for awarding two year government scholarships. An influential artist of high reputation is also a

member on this committee as an expert. After studying the shortlisted artists, for this prestigious state scholarship,

another member brought to your notice that many artists are from the institute that is managed by this reputed

artist or institutes that are managed by his past students. You would :

(1) talk to the artist and request him to make selection criteria public for avoiding biased selection.

(2) maintain silence with respect to selection of awardees of this year and then publish the misdeeds of this person.

(3) halt the work of the committee by dissolving it immediately and form a new committee.

(4) request all the members of the present committee to go through the original list again and with unbiased approach
freshly shortlist the candidates.

77. TR AAEGE HAGAYS W TTERE SHE TR, S SRTaTeA ATdreal T Sahl TeliHeh WMt 43 JTaTae

G
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AT BIRTHEA AT TEREd 3ATed. 319N At qret:

(1) T= AT TGEHT 37 BT Teehled T TS,

(2) TRl T THEHT SIS cITeaTaed idde Sl & .

(3) Tl S THEMT ST ST AT fagde YIegd HHSETS.

(4) 2 IR IRETRS TTedd IEIe STCIMHE! d1e S91s.

As an administrative incharge of a communally sensitive area, you are faced with a situation where the religious

heads of both the communities have given inflammatory speeches thereby inciting violence amongst their respective

communities. You would :

(1) immediately order the arrest of the two religious heads.

(2)  call both the communal heads together and try to broach a peace deal.

(3)  call both the heads individually and do some "humble talking" with them to explain the situation.

(4)  report the matter to your superior and wait for appropriate instruction.

aRFEr : 1973 |resen HiuT gShe 0T ad 2012-13 AL AUTEH TGS JRhTes aMEd Uk HoHHd Fleh 311

1973 AeA1 TEhlcd AT 24Ts AigN SHTUMER gt X 2012-13 AL AT el ZoTg SUTEd 3Tg. 9

WA TG T WIS, WY R smavaes dae fuvar uiol g1 Su@sy Arél. 9l @t Uk S sttt

AT WAT HSS! TG, A 212 Fgd UTvhl Iuesd 31 d9E S, FAHNES ARG TEE{-h Squume o fuvama

IR

T : o7 uRfeerdta @ aradiel uRferd graresuar SaTeErl SITIuTeR e Woiead! oo SUTESHT STIuT

YT STHETA SATUTIS ?

(31) wd g T @rerft arofiers weh fuveeRfar g Jam.

(§) Sdh=are e fUsh I S w30 g A9, aHe e urverEh e gg1 weTaet Sl Tev suwsed
aroft =1 Gal STETETEl 50-50 e aTed FESH .

(%) e AdHIT ICATEATS ThiE HId TS IR HeAH 31 e Mo 31ffes aftomy urgdn /@ IedeArest
T ¢ YUW 3TEwe dae¢ q1ofl el TEa o,

(T) UIwATE il ST S ST GE ShITTE T THeA™ TEReh T 9ol Gg1 wmes B RIS

HIHTA TR ITER Rl IS,
Tl 3
1n @ 2 @)
3 (3 @ ()

Situation : One major difference between the severe drought faced by the State in the year 1973 vis-a-vis year 2012-
13 is, where as there was a food scarcity in 1973, the year 2012-13 reflects acute water scarcity. Thousands of villages
do not have even adequate quantity, forget appropriate quality drinking water. Most Rabi crops could not simply
be sown as the moisture in the soil is completely dried away. The chemical contamination like Nitrate, Fluoride
is causing a grave concern even where water is available, which if consumed would lead to grave health hazards.
Human survival till onset of the monsoon is the major concern.
Question : Under such circumstances if you are entrusted with a responsibility to tackle the situation, which of the
following options would you resort to, on priority to manage the immediate crisis.
(a)  Reserving all public and private water sources exclusively for drinking water
purposes.
(b)  To strike a balance between farmers losing their income of Rabi Crops and also to ensure acute drinking water
needs, 50-50 distribution plan for crop survival and drinking water.
(¢)  As the poor farmers will be losing their only income source which may have severe economic consequences, crop
production will be given priority and most of the water will be reserved for the agriculture purposes.
(d)  Even taking the risk of diseases people will be motivated to use chemically contaminated water for survival till onset
of monsoon to save human life there being no alternative as diseases can be cured in due course.
Answer options :



79.

30.

The Unique Academy

1 @ 2) ()

3) ( @ (©

oA fe T g TRt RGNS HISH o SfUT & MR AIiis U auiarey wie fooe ai@ & st at

M RFHE AT TR 90 AR, THAGRH qoeal e gorM foaha quarel At ot 31 WG SeRHaRTe Tet

foFma STeRWTETEAT 50% TR, FEHRHGNI el HIGE T AR FEA TGHTRS TS T4 U queal Tt aweae

TR, 379N URTET grél Ush WS ia SIerehrl U ShivTaT Tgl T ?

(1) difoHTehe ghMGRI= faiuT EhR Agel.

(2) THEMGRH afaoiedl WGl fermdia dTe e |l

(3) qHAT HATUHT AT H& GHHEGH GHh] DT,

(4) faE=n Sadie ghM fasuamEn e wUel 99 fhnd SemaEme o€t wH W SRl @iel fRAdtuE
e 3R,

Your friend has rented his shop to a shopkeeper and shopkeeper has not paid his rent for the last one year and now

refuses to vacate his shop. Shopkeeper has offered to purchase that shop from him but only at 50% of the present

market value. Shopkeeper uses his contacts and has threatened him of dire consequences if he lodges a police

complaint. What kind of advice would you give to your friend as a police officer ?

(1) Lodge a complaint against the shopkeeper with the police.

(2) Negotiate with the shopkeeper for a higher price and sell it.

(3)  Use your power for threatening the shopkeeper.

(4) Try to sell the shop to a 3rd party at a price slightly less than the market price but higher than the offer of the
shopkeeper.

T BIRUAT HTERTEA JHEAHTS! AT SATET. T FHEHT SIHTATd higt HIUTE STSHAST! el [GHard. SToasst
T T S ?

(1) T SATETamhe @& | a1 Joradea fewmil deeEme.

(2) TftIes M NHE LIS AT fhHae Algd! O,

(3) WIS g IreS-adl Hed AT 9 df Aswia fa orfers.

(4) NS T FFIS! Hed HUSATE A ST HSHSTAT TR HISaTes.

Suppose you are going for Public Service Commission's Interview. On the road you see an accident in which few
men are stuck in. What will you do?

(1) You will not pay attention to the accident and reach the Interview destination.

(2)  You will inform nearby Hospital and Police station telephonically regarding the accident.

(3)  You will call Police and Ambulance for help and wait till the help reaches.

(4)  You will ask local people to help police and ambulance in the rescue of people stuck in the accident.
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1-a 2-¢ 3-d 4-c S-¢ 6-a 7-b 8-a 9-b 10-¢
11-d 12-d 13-a 14-¢ 15-a 16-b 17-a 18-d 19-c¢ 20-d
21-a 22-d 23-a 24-¢ 25-¢ 26-b 27-a 28-b 29-d 30-d
31-d 32-d c:i;l 34-¢ 35-d 36-b 37-b 38-¢ 39-d 40-d
41-d 42-¢ 43 -¢ 44 -d 45-d 46 - ¢ 47 - ¢ 48 - ¢ 49 - ¢ 50-d
51-b 52-c¢ 53-d 54-b 55-¢ 56 -c 57-a 58-a 59-d 60-d
61-a 62-c 63-d 64-a 65-d 66-c 67-b 68-d 69-c 70 -a
71-b 72-a 73-d 74-b 75-a 76 -d 77-b 78 - a 79 -a 80-c¢






